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o |  COMPUTATIONS

1. Computation of prevalence index (P!) for transect #1:
(1F,) + (2Fpy ) + (3Fy) + (4Fg,) + (SF))
(Fo + FMf'F' + Ry + Fy)

P'l -

(1x4) + (2x29) + (3x24) + (4x25) 234 2 85
44+4294+24425 82 :

Pl

where:

Pl, = Prevalence index for transect i
Fo = Frequence of occurrence of obligate wetland species
Ffw = Frequency of occurrence of facultative wetland species
Fs = Frequency of occurrence of facultative species ‘
o * Fy, = Frequency of occurrence of facultative upland species
( o Fy = Frequency of occurrence of upland species

2. Computation of mean prevalence index (Ply,) for three transects:

PIT
PIM - —N—

where:

Piys = Mean prevalence index for transects
PlT = Sum of prevalence index values for all transects
N = Total number of transects

For example: P! for Transect 1 = 2.85
Pl for Transect 2 = 3.16
Pl for Transect 3 = 293

285+316+293 B8.o4
3 © 3

Ply = -298




3. Computation of standard deviation (s) for prevalence index (PI):

\/ (Ply = P2 +(Ply — Piy)2 + (Plg - Pyy)?
§ = .

N-1
For example:
‘ 2
Transect Pi; Pig (P, = Ply) (Pli - PlM)
1 285 298 -0.13 0.0169
2 3.16 288 0.18 0.0324
3 283 298 -0.05 0.0025
A g U 0.0518
/ 0.0518 0 0518
oJO 0259 =« 0. 161
{ : 4. Computation of standard error (sx) of the prevalence index:
- | 0. 161 161
sx 0161 = 0.093

IR

Since 0.083 does not exceed 020, no additional transects are needed.

S. Record mean prevalence index value.

Ply = 298

Since 2.98 is less than 3.0, the area has hydrophytic vegetation. !f the wetland

hydrology criterion is met, then the area is a wetland.




